L4002

2022-UP POLARIS MATRYX RMK ,
ACCESSORY LIGHT KIT

ITEM DESCRIPTION

J—

LH BRACKET

RH BRACKET

LH BACKER

RH BACKER

LIGHT ASSEMBLY

WIRING HARNESS

M8x16 BHCS

M8 HEX NUT

O |0 N OO [ BN

CABLE TIE 5

Refer to this LOT NUMBER when contacting customer service:

PLEASE READ BEFORE STARTING INSTALLATION

While MBRP has made every effort to ensure that all components of this system are of
superior quality and properly pc:c:kclg(?dl,I it is the installer’s responsibility to ensure the
ollowing:

that ALL components shown above are present.

that ALL mating components fit together.

that there are no damaged components.

that the system you have purchased is appropriate for your vehicle year, model and
configuration.

that the system will not interfere with any modifications previously installed or planned.
that you have read and understand these instructions.

If you have any questions or are uncertain about any aspect of the installation of this system
to your vehicle please contact your dealer before commencing installation.

SL4002 © 12/24 PAGE 1 OF3




Figure 4

SL4002 © 12/24

Remove both side panels and the upper hood assembly before
following the steps below.

Remove the hole plugs from both sides of the hood
assembly.
Refer to Figure 1.

Install the LH Bracket and LH Backer using a M8x16
BHCS and M8 Hex Nut through the hole on the left side
of the hood assembly. Be sure the folded tabs on the
brackets align correctly with the hood before tightening.
Refer to Figures 2 and 3.

Repeat step 2 for the RH Brackets.

Install both Light Assemblies onto the brackets using the
supplied hardware.

Disconnect the OE headlight connector on the hood
assembly. Install the Wire Harness between the OE
connector and the headlight housing. Connect the 12v
accessory power connector on the OE wiring harness to the
2 pin connector on the Wire Harness.
Refer to Figures 4 and 5.

Page 2 of 3



6. Route the Light Assembly wires through the vents.
Refer to Figure 6.

7. Connect the Light Assembly wires to the Wiring Harness.
Secure the Wiring Harness to the OE wiring using the
supplied Cable Ties.

Refer to Figure 7.

NOTE: There is a 2 pin accessory power connector provided
on the Wiring Harness to allow for additional accessories to
be installed.

Refer to arrow in Figure 7.

8. Reinstall the hood and both side panels. The accessory
lights will switch on automatically during Hi Beam use.

9. Adjust both lights to provide desired light coverage.

Congratulations! You are ready to
experience your mar, Accessory Lighting

kit. We know zou will en'loz your Eurchase!

Figue 7

SL4002 © 12/24 Page 3 of 3



